LY
10
: pKA(CH,NH /CH,NH,) &aad -]
CH,NH, +H,0 « CH;NH; + HO™ -1
A Jgaa -2

corl S K *10pH
dgdaa Jel@il) ) 7= — =-0126=126% -3

B
[HO ]=[CH3NH3+]=[%]=6,3.10 *mol.L! -4

[CH,NH,]=C, |[HO|=437.10?mol.L™
« - leHsNHz JHo | JeHaNH: JHo oot _ K,

-5
[CH ,NH, ] [CH,NH, ]H,0" ] K,
K :wzg,o&m 4 .6
4,37.10 2

pK,=10,96 3 K, = ? =11.10™ &3

. Gasgeall 8 CH,NH, 3=l g ol d pH > pK, Clle -7
el o]
CH NH, +H,0* -~ CH,NH; +H,0 -1
H,O" & 8l 38 aaall Jelital) -2
CH,NH, & 38K day daal) Joliial)
CV,e = CpV, : sAsil aie 3
CcV

C, =24 =510 *mol.L* &3
VB
20040
-1
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Rt:

_ .. _RE A
fRO)=R({t)=—(@0-e'") -«
Ug(t) = Ri(t) Rt( e’r)

RE

UR(OO) =— -«
RE =>r= RE —R=30 6—30:1OQ -4
Ug () Ug () 4,5

L=r*R 9 7=5ms ¢l
L=02H =200mH &
3
REBTLL UL |
E=6V &M u (0)=E of alad -2
T=2ms -3

L= TS (2107%)?

= = =018H -4
4°C ~ 472 *0,55.10°°

E,(0) = E,(0) = %Cué =99.10°J

E, (3T) = E,(3T) = %Cué =687.10"°J
Joa Jordas Lgolua ga dBlal) (sl i -6

Glladia) = g jlal = (g ya
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